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QUESTION NO: 1

The following aboutFusionAccesslin the description of the virtual machine disk configuration mode during fast provisioning,
which options are correct?

A. When the virtual machine template is a full copy template, the configuration mode must be normal delay zero

B. When the virtual machine template is a full copy template, the configuration mode is recommended to be normal delay
zero.

C. When the virtual machine template is a linked clone template, the configuration mode is recommended to be thin

D. When the virtual machine template is a linked-clone template, the configuration mode must be condensed Correct

ANSWER: B D

QUESTION NO: 2

In the business scenario of a TV station, the desktop cloud is used, the employees use 3D animation rendering, video
production and other scenarios, which one should be used Desktop type?

A. GPU desktop B. Full copy
B. Linked clones

C. Full memory

ANSWER: A

QUESTION NO: 3

Which of the following are the functions provided by the operation plane of ManageOne? (many)
A. VDC Management

B. Application management

C. Application resource monitoring

D. project management

ANSWER: ABD

QUESTION NO: 4

DumpsQueen - Pass Your Next Certification Exam Fast!


https://dumpsqueen.com/

DUMPSQUEEN

When the administrator routinely checks Fusioncompute, it is found that a CNA host is

Machine communication is interrupted. Which of the following options would cause this behavior? (many)
A. The network cable connected to the host network port is loose

B. The VRM clock synchronization process is abnormal

C. The network cable of the switch connected to the host is loose or damaged

D. The host is restarting

ANSWER: ACD

QUESTION NO: 5

In the user login connection process of the FA, the virtual machine list cannot be obtained after user authentication, which
cannot be the following which component caused it?

A. GaussDB
B. ITA
C.HDC

D. WI

ANSWER: D

QUESTION NO: 6

In the FusionSphere private cloud solution, after a tenant applies for a cloud server disaster recovery service, they need to
perform a disaster recovery test.

Test, which of the following is true about the description of the disaster tolerance test process?

A. During the disaster recovery test, it needs to synchronize with the main-end business to ensure data consistency
B. The production-side business needs to be suspended during disaster recovery testing

C. The disaster recovery test work is initiated by the administrator and does not require user participation

D. DR testing to productionVMNo business impact

ANSWER: D

QUESTION NO: 7

(Multiple Choice) Which of the following components areFusionAccessRequired components for desktop cloud?
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A.LIC
B. TCM
C.ITA
D. HDC

ANSWER: ACD

QUESTION NO: 8

[Judgment] When an engineer deploys the Rainbow server on the FusionSphere platform, he will

Plane isolation, when the Rainbow server communicates, even if dual network cards are not configured, it can communicate
with the king FusionSphere and the destination virtual machine of the service plane communicate with each other.

A.TRUE
B.FALSE

Answer: B

A. True

B. False

ANSWER: A

QUESTION NO: 9

Huawei Desktop Cloud launched a sub-HD mapping desktop solution, which can support a variety of high-definition mapping
software.

According to its 3D display implementation principle, which of the following technologies are mainly used? (Multiple)
A. graphics workstation management

B. GPU hardware virtualization

C. GPU pass-through

D. Device redirection

ANSWER: B C

QUESTION NO: 10
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The company plans to deploy a large number of linked clones, using oneOceanStor5500As back-end storage, which disk
solution is

more suitable?

A. 50piece2TB SATADisks form storage pools. internal useRAID5type

B. 100piece1TB SATADisks form a storage pool for internal useRAID5type

C. 50piece2TB SATAAdministrative disks form a storage pool for internal useRAID6type

D. 100piece1T8 SATADisks form storage pools. internal useRAID6Beautiful

ANSWER: B

QUESTION NO: 11

In order to ensure the security of data in the actual production environment, data backup technology is used;

To ensure the continuity of the service and the availability of the system, the disaster recovery technology is used. The
following describes the different disaster recovery and backup schemes.

Which statement is correct? ( one)

A. Local high availability disaster recovery can cope with data center failures such as power failures and building fires.

B. Remote disaster recovery can deal with logical errors such as operational errors, upgrade failures, and software defects.
C. Disaster recovery in different places can deal with regional disasters such as turmoil and natural disasters.

D. The data backup system can deal with equipment failures such as disk failure, application interruption, and data damage.

ANSWER: C

QUESTION NO: 12

(Multiple choice) Users useVNCLog inFusioncomputeAfter the virtual machine is found to be unable to operate normally,
there is a stuck phenomenon (for example, the file cannot be opened, etc. ), which of the following reasons may cause this
phenomenon?

A. The management link is unstable
B. Storage link is unstable
C. The service link is unstable

D. virtual machine corruption

ANSWER: D
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QUESTION NO: 13

The centralized alarm on the ManageOne operation and maintenance plane can centralize the alarm of the theft control
system service or third-party system,

Centralized alarms provide a unified alarm model, third-party systems can develop their own drivers, and provide

The provided interface reports alarms to realize unified management of alarms. The following describes the logical structure
of centralized alarms.

Which is wrong?

A. The resource pool collects computing resource pools, storage resource pools and network resources through
FusionSphere OpenStack.
Source pool alarms are reported to the ManageOne O&M plane.

B. Cloud services are monitored through service monitoring Agent or Service OM / Fusioninsight Manager and other
systems
The system collects cloud service alarms and reports them to the ManageOne operation and maintenance plane.

C. The physical device collects alarms of server devices, storage devices, and network devices through eSight, and reports
them

Go to the ManageOne operation and maintenance plane.

D. Physical devices, resource pools and cloud services can all be accessed directly through the AP interface provided by

ManageOne.
Report the alarm to the ManageOne operation and maintenance plane.

ANSWER: D

QUESTION NO: 14

OperationCenterCentralized alarm management, which data compression technologies are included?
A. Alert Correlation Rules

B. Alarm Aggregation Rules

C. Flickering/flashing alarm handling

D. Alarm custom rules

ANSWER: ABC

QUESTION NO: 15

In FusionCompute, which of the following are the reasons for the abnormal heartbeat connection between the CAN host and
the VRM?

A. CNAshost offline

B. CNAThe host is in maintenance mode
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C. CNAThe host management network port is abnormal

D. CNAhost process exception

ANSWER: ACD

QUESTION NO: 16

In the user login connection process of FA, after the user clicks the virtual desktop icon on the WI page, the following
information is also included:

Which steps (multiple choice)

A. ITA sends username and password to virtual machine

B. HDC checks whether licnese is satisfied

C. The virtual machine uses the domain account password to log in to AD for authentication

D. TC establishes a login connection with the virtual machine

ANSWER:BCD

QUESTION NO: 17

In the Huawei Fusioncloud scenario, in the following description of the AZ planning and design, the wrong one is which
items?

A. The same virtualization is divided into several Azs using the principle of maximum computing pool and storage pool, that
is, if there are 2 computing pools. All pools are connected to the same set of storage pools and are divided into 2 Azs: If
there is 1 compute pool connected to 3 sets of storage pools, Divide into 3 Az

B. Openstack can be divided into multiple different bare metal resource pools (AZ)

C. The division of host groups is ultimately reflected in the choice of specifications when creating cloud hosts. Specification
of labels required and host

If the tag of the group matches, selecting a certain specification is equivalent to selecting the host group with the
corresponding tag.

D. AZ is included in Region, Az cannot cross Region

ANSWER: AC

QUESTION NO: 18

(Single-choice questions) FusionAccessWhat data is only retained after a linked clone virtual machine restores the system
disk?

A. data disk data
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B. system disk data
C. desktop data

D. Favorite data

ANSWER: A

QUESTION NO: 19

After the user adds the host to the Fusioncompute environment, which of the following items can be operated? (many)
A. Move from cluster to site

B. moving from site to site

C. Move from site to cluster

D. Move from a cluster to another cluster

ANSWER: ACD

QUESTION NO: 20

In FusionCloud, which of the following descriptions about the virtual firewall VFW is wrong? (one)

A. Security group is a virtual machine port-level security service of VPC, supports black and white lists, and can be used to
control Control traffic to and from one or more virtual machines

B. is a subnet-level and VPC-level security service of the VPC

C. By setting up a virtual firewall, adding an additional security layer to the VPC can be more flexible and hierarchical
Safety management.

D. Support black and white list, which can be used to control the traffic in and out of one or more subnets

ANSWER: A
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